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s 73,400




2N sYEH
B soigol ASEO
SEREE PR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 104,000 65,000 39,000
< 52,000
s 52,000
04 JIZHHZ22XREES 104,000 65,000 39,000
ONZEY =& MZLo) ZTZHME olAYy|
(%) 104,000
OoJlzgs 1,822,480% 90 & «5YH 82,012
< 41,006
[ia 41,006
ONMZ 22+
8,720& 1 .5x8A| 2t x20F 5 10,464
< 5,232
[ia 5,232
o4 282 88,640,000 »13% 11,524
< 5,762
s 5,762
202 Odl 3,000 1,500 1,500
< 1,200
[ia 1,800
05 B2 WA 3,000 1,500 1,500
O4XLLHPLHEEE 20 2HI=
1,500, 000& »2H 3,000
< 1,200
s 1,800
405 XHobF S HI 28,000 32,000 A4,000
< 8,400
s 19,600
01 AL ESFH S 28,000 32,000 A 4,000
Otl=E=d =sE88 MZ ol ZIME =SS
&l X3 5,000,000 = 1CH 5,000
< 1,500
s 3,500
ogasE =9 JlAHsRs N
23,000,000 = 1CH 23,000
< 6,900
s 16,100
=8 sgJH X& 22,000 30,000 A 8,000
= 11,000
s 11,000
405 XtabFE SHI 22,000 30,000 A 8,000
= 11,000
s 11,000
01 AL ESFH S 22,000 30,000 A 8,000
oussg sZIIAH X 22,000,000 = 1CH 22,000
= 11,000
[ia 11,000
C==sJIA A XA 200,000 0 200,000




SN sYEUY
B soigol ASEO
SR SIPTE (S &2)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
= 100,000
< 30,000
= 70,000
405 Ko SHI 200,000 0 200,000
= 100,000
< 30,000
= 70,000
01 JHAHE =2 Z F S H 200,000 0 200,000
OEE=sIIHUMKX &AL 200,000
2 100,000
= 30,000
= 70,000
SAasI|H X 15,000 0 15,000
402 Q12+t X2 0| & 15,000 0 15,000
01 QIZtXI2AEE X (KM TH ) 15,000 0 15,000
O=sJIH XA 15,000, 000& 1 15,000
HE2H 3| 279,340 290,960 A 11,620
Jl2db(sgd8=) 279,340 290,960 A 11,620
HEFXAHH| 7,500 6,900 600
203 ¥ R =&t 7,500 6,900 600
01 J|2A29 PR =&Y 3,300 3,300 0
OJ|H#2d IR 275,000& 128 3,300
04 ENSHLRF=XH| 4,200 3,600 600
ORANSHELERF=AH| 350,000 x12& 4,200
usr2 Y| 213,840 220,460 16,620
201 et A | 213,840 220,460 NB,620
01 A2 2218l 86,800 83,420 3,380
CHEIER =Y 33,500
osgag 1,300
ogx4g 50,0008 %22 *1 13 11,300
O3l 4,608
OFAN X2l 37,392
O@I|otA 22l Hl 873,000& 128 10,476
O grorX™ 2t el dl 242 000& ~12& 2,904
OsZ IS A 2elbl 300,000& «12& 3,600
O AIE HAH| 1,371,000& ~12& 16,452
O24xel&eltl 330,000& x12& 3,960
02 35244l 127,040 137,040 A 10,000
032322 2 MA 85,100
(OFSPIETE= 6,000,000& x12& 72,000
O3 1,000,000& ~12& 12,000




SN S
Ha: Y2 I
Crel Il A (SYEH D) (ol @)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OJIEtEse3 91,666 *x12& 1,100
O A& &EHl s X bl 11,940
O Xt& & Bt 30,000
04 dl 50,400 63,600 A 13,200
202 o4dl 50,400 63,600 A 13,200
01 = LH o4 1l 50,400 63,600 A 13,200
O=3UWoHI 50,400
O&U oyl 38,304
O&2 0yl 12,096
AHatE S HI 7,600 0 7,600
405 RHoHE S HI 7,600 0 7,600
01 AL EFFHSHI 7,600 0 7,600
O-UAY 29 FH 7¢ 7,600
Hees(sg3 ) 75,000 62,000 13,000
WEAHNK S (s E ) 75,000 62,000 13,000
SHELENSELIHN &3 75,000 62,000 13,000
701 JIEtSI HEXTES 75,000 62,000 13,000
01 JIEtSIHE &S 75,000 62,000 13,000
©=21 g8 Al 30,000
ONMFZFIE J13 45,000




